Parts Information:
EA LE Waste Oil Drainer for Motorcycles
Model No: AK467

71

105 87

A 51
52—

= TR S—

54—g

103— 69_5&
83—

Item | Part No. Description Item | Part No. Description
16 CM50507002 Quick Connect 62 | CM00708001 Fixing Ring
34 | CM02001020 Ball valve 1/4" 63 | CM00614012 Wheel
51 AK460DX.37 Oil Discharge Assembly 64 | CM00512004 Automatic Connection
52 CM00720003 Hose Clamp 19 x 25 65 | CM006280T11 Level Tube
54 | CM00510003 Connection, Fish Pin 1/2" x 20 66 | CM00712006 Grub Screw
61 NLN10.S Nyloc Nut M10 Zinc 67 | CM61401006 Handle with Tray

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
There may be alternative versions of this product, please contact us should you require this information.

IMPORTANT: No liability is accepted for incorrect use of product. Spare parts must be fitted by a competent person

WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | .ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 10of 2 AK467 Issue 3 PL 2/03/20



Parts Information:
EA L E Waste Oil Drainer for Motorcycles
Model No: AK467
Item | Part No. Description Item | Part No. Description
68 | CM00641012 Wheel, Swivel Castor 80 | CM00508002 Safety Valve
69 | CM02001019 Ball Valve 1/2" 81 | CM0820002206 Drain Pan
70 CM02002018 Safety Valve 1/4" 0.5Bar 82 | CM00616010 Rubber Washer M30 x 40
7 CM00712004 Grub Screw 83 | CM51322077 Fitting
72 AK460DX.16 Gauge 84 CM00618005 Lever M8 x 12
73 | CM51322076 Spacer 36 x 20 85 | CM00702035 Flat grub screw 6 x 35
74 RE91/10.07 0O-Ring 87 | CM61308010 Pipe Assembly
75 CM51322078 Screw Cap 88 SN6.S Steel Nut M6
76 CMO01332002 Pipe 89 CM00606003 Gauge Cover
77 CM02001013 Ball Valve 3/4" 90 CM00706007 Washer
78 CM51322095 Connector 103 | CM64008003 Outlet Assembly
79 10QJV3.2-29 O-Ring 105 | CM53003001 Complete Pipe Assembly

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
There may be alternative versions of this product, please contact us should you require this information.

IMPORTANT: No liability is accepted for incorrect use of product. Spare parts must be fitted by a competent person

WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | |ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 2 of 2 AK467 Issue 3 PL 2/03/20



